MIAM -DADE MIAMI-DADE COUNTY, FLORIDA
e METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

KML Windows, Inc.
23 Buchanan Court
London, Ontario, Canada N5Z 4P9

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Aluminum Clad Outswing Wood French Door-Non-Impact

APPROVAL DOCUMENT: Drawing No.1228B, titled “Aluminum Clad Wood French Non-Impact Doors”,
sheets 1 through 13 of 13, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated 5/13/03, signed and
sealed by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Revision stamp with the Notice
of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

L ABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 00-1030.02 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Theodore Berman, P.E.

NOA No 03-0625.10

Expiration Date: April 26, 2004
Approval Date: October 09, 2003
Page |




KML Windows, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer’s die drawings and sections.
2. Drawing No.1228B, titled “Aluminum Clad Wood French Non-Impact Doors”,
sheets 1 through 13 of 13, prepared by W.W. Schaefer Engineering & Consulting,
P.A., dated 5/13/03, signed and sealed by Warren Schaefer, P.E.

B. TESTS
Submitted under NOA# 00-1030.02
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Intertek Testing Services NA
Inc., Test Report No. J99022770-231-07, dated 10/11/00, signed and sealed by
Douglas Keith Tucker, P.E
2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Intertek Testing Services NA
Inc., Test Report No. J99022770-231-08, dated 10/11/00, signed and sealed by
Douglas Keith Tucker, P.E

C. CALCULATIONS

1. Anchor Calculations and ASTM-E1300-98 analysis, dated 6/18/03, prepared by
W.W. Schaefer Engineering & Consulting, P.A., signed and sealed by Warren
Schaefer, P.E.

Submitted under NOA# 00-1030.02

1. Engineering Calculations prepared by W.W. Schaefer Engineering & Consulting,
P.A, dated 8/28/00, revised on 8/28/00, sheets 1 thru 12 of 12, signed and sealed
by Warren W. Schaefer, P.E.

Theodore Berman, P.E.

Deputy Director, Product Control Division
NOA No 03-0625.10

Expiration Date: April 26, 2004

Approval Date: October 09, 2003



KML Windows, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

D. MATERIAL CERTIFICATIONS
Submitted under NOA# 00-1030.02
1. Notice of Acceptance No. 00-0524.06issued to Nebula Glass International Inc. for
“Glasslam Safety-Plus Laminated Glass” dated 9/21/00, expiring on 9/9/03.
2. Notice of Acceptance No. 02-0828.16 issued to E.I. DuPont DeNemours for
“Dupont Butacite ® PVB” dated 11/21/02, expiring on 12/11/05.

E. QUALITY STATEMENTS
1. Miami-Dade County Building Code Compliance Office.

F. OTHER

1. Notice of Acceptance No. 00-1030.02, issued to KML Window, Inc., Aluminum
Clad Outswing Wood French Door, approved on 4/26/01 and expiring on 4/26/04.

Theodore Berman, P.E.

Deputy Director, Product Control Division
NOA No 03-0625.10

Expiration Date: April 26, 2004

Approval Date: October 09, 2003



DRAWN BY: CHECKED BY:

—_— . 74 3/16" MAX. OSM el e
7 37 5/8" MAX. OSM | 1/4” TAPCONS WHEN INTO T
CONCRETE HEAD (2 PER STRKE PLATE)
l‘ l‘ @@ NO. 10 SMS (WHEN INTO ) 27 e
VINYL NAIL FIN WOOD HEAD (2 PER STRIKE PLATE 3
(OPTIONAL WITH B1\gB7 (B1N\gB2) @ VINYL NAIL FIN
RECTANGULARSECS&T W g TRPEZODEXT speag scpey @ A C (OPTIONAL WITH i~
e 70w B || S V= PN : s
F o ° = e | A 1 =1\ e = o INEREN IR = ] ° ° g
L L 1 LT / j I I /1::1 l%}r\[ I 1 — : E
i} g il N z
gl I] | | o i o s
I N GIA| | N i 0 = : :
] ° Lol BEY @
EXT. REV. DOUBLE DOUBLE EXT. % l // @ / TR o g
SEGMENTAL RECTANGULAR PARTIAL SEGMENTAL 48A i / \A il 48A A / #Jl #Jl \ s
]
NO. 12 SMS |* SHEAR SCREW s NO. 12 SMS s SHEAR SCREW i : z
INTO BUCK INSTALLATION INTO BUCK INSTALLATION ully ¢
(2 PER TOP SEE OTHER ELEVATION N (2 PER TOP SEE OTHER ELEVATION i o2
HINGE) . iy HINGE) . ii N\ . a
i) FOR CLIP INSTALLATION e i FOR CLIP INSTALLATION it &
DOUBLE EXT. DOUBLE EXT. ; / ' | 9 / | Y/ 74 \ S =<
HALF ROUND QUARTER ROUND o . BRI / i ) &1 /24 7/8" | ' z 25
= A ACTIVE il 1 = .@ 1 MAX. D.L.O. | . AN | 1! REEE
> HINGE @_ | F T N , : 2 2 [ 2]¢=357
2 , i n 8 % \ INACTIVE | = ACTIVE . 2 S |1g8l8z°,
% 2478 2 A , © 5 |°o| 258
Q MAX. D.L.0. = 2 4 Nz 2 |5|%385
N \ I, N . 31A & 32M || ' 5 gl 2 2z
DOUBLE DOUBLE EXT. REV. o 0 \ N S wu a| 2 P8o
TRAPEZOID PARTIAL SEGMENTAL ~ - 31A & 32 \:-— o ©Q —-- \l\n " @ Zl ¥
Z
SHAPES CONSIDERED AS @ . 3 \ ¢ L S } N\ ¢ l “J| AP / E : 5 8
PART OF THIS AP 19) Sl o
OF THIS APPROVAL | | ‘2 NP i | |l R E &
WITHIN 4" OF }1 4 L ) u N\ }/7—(:) : 1 S |2
NOTE: FOR COMBINATION OF || |CORNERS & . @\n' N wl I N4 & I -
UNITS. SEE SHEET 3 SN\ ] P D, 10 SMS 5 i 1|/ =g .3
& MULLION DRAWING " < ' 9 RN &7 OF > \ Va4 ° S| & is¢
+H = THL CORMERS & |44 . gl H Q1 beoan
NO. 1003E UNDER q al 2 1 wx 12 oc. | b 2| ® i o D
SEPERATE APPROVAL Tt =i i . ” i It 2l 25553
Z + o H Q o| Mzsst
I . HE 2 ~ 2| =5 &8,
ALLOWABLE DESIGN LOADS ol \LF T i . - = S| Lz &3
T 11 I |H| T T T J:JIJ l::l ) 4 1 i = <Z ;U“"’
” ” | | | | ! | B3 1258 280
SEE "LOAD TABLES” ON SHEET 12 P e s W £ 08 o 10 s wev o B3 [590 2ok
CORNERS & MAX. 12" 0.C. WOOD SILL (2 PER STRIKE [ |3 =¥ 824
FOR JAMB FASTENER EMBED & EDGE EXTERIOR ELEVATION WHEN INTO CONCRETE EXTERIOR ELEVATION PLATE) I PO
DISTANCE REQUIREMENTS SEE SHEET 3 SINGLE RECTANGULAR FRENCH DOOR NO. 10 NS WITHIN 4° OF DOUBLE RECTANGULAR FRENCH DOOR 1/4” TAPCONS WHEN INTO )
SCALE: 3/4°=1-0" - 10 SMS WITHIN 4 SCALE: 3/4"=1-0" CONCRETE SILL (2 PER u
CORNERS & MAX. 127 O.C. STRIKE PLATE) o o
GEN ERAL NOTES WHEN INTO WOOD FRAMING zZle E.n,"’_
Eley 93
1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR 5. ALL JAMB TO BUCKING SHEAR FASTENERS MUST PENETRATE BUCK A 8l o §o-
DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN ON THESE DRAWINGS. MINIMUM OF 1 3/8". IF PENETRATION IS LESS THAN 1 3/8" THEN PRODUCT REVISED | — ¥
2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE DESIGNED & SCREW LENGTH SHALL INCREASE AS REQUIRED. s complying wiih the Forids bl=" o4
iding Colp © ri]
INSTALLED TO WITHSTAND WIND LOADS AS DETERMINED FOR EA. APPLICATION. 6. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH s Cole S :
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS THE FLORIDA BUILDING CODE (FBC) e AT g
& MAY NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. 7. THIS PRODUCT HAS BEEN TESTED IN ACCORDANCE WITH FLORIDA
4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS " BUILDING CODE PROTOCOLS TAS-202 , BRAWING N0, JREV.
PROPOSED FOR WATER, AR & UNIFORM STATIC AIR PRESSURE TESTING IN 8. FOR ALL NON—IMPACT DOORS. FLORIDA BUILDING CODE APPROVED P 12288
CONFORMANCE WITH FLORIDA BUILDING CODE PROTOCOLS TAS 202 FOR ‘ ’ e SHEET NO.
SHUTTERS ARE REQUIRED
NON—IMPACT DOORS. ' 1 or 13

L _



|

CHECKED BY:
WWS.

DATE:
05/13/03

—

REVISION DESCRIPTION

NO.

74 3/16" MAX. OSM
1/4" TAPCONS WHEN INTO
CONCRETE HEAD (2 PER STRIKE PLATE
FIN SCREWS
NO. 8 X 1 1/4" SMS NO. 10 SMS WHEN INTO
OR 1 5/8" DRYWALL WOOD HEAD (2 PER STRIKE PLATE)
SCREWS WITHIN 4" Vlh:jYL NAIL FIN
OF CORNERS & MAX (OPTIONAL WITH
10 1/2" 0.C ' SHEAR SCREW
- INSTALLATION)
SEE "CORNER DETAILS”
ON SHEET 8 —\
/NO. 10 SMS
WITHIN 4" OF
CORNERS &
MAX. 12" 0.C.
NO. 12 SMS ,
INTO BUCK
(2 PER TOP SHEAR SCREW
HINGE) INSTALLATION
SEE OTHER ELEVATION |
. FOR CUP INSTALLATION 312"
a . " i
2 & )y INACTIVE | X ACTIVE T |
3 Nind 24 7/8" | " N T &
¥ MAX. D.L.0. , <
= a N @ 31A & 324 || Al E
N \J ‘ O 1
™~ I~ \r\ | 2 g
\ N / 3
) \ @ i I I / ° fan
@ \ | / n
SR .
NO. 10 SMS ||| ) i %
WITHIN 4" OF | ] RN % | E 3
CORNERS & H N ! <
MAX. 12" 0.C. .
: & N HHHT—E 3 /// _
T :) . N\ lﬂj IlﬂJ / i
© S N gl /
' N T
1 9 \ _C\J
‘_/ g | H N
@ H N W — 1
HlNGE T 1 lgl l::l ' ¥ Y -

I
1/4" TAPCONS WITHIN 4" OF
CORNERS & MAX. 12" O.C.
WHEN INTC CONCRETE

> |

EXTERIOR ELEVATION
EXTENDED QUARTER ROUND

PLATE)

DOUBLE
NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.

WHEN INTO WOOD FRAMING

SCALE: 3/4"=1"-0"

i | [
L\ @ NO. 10 SMS WHEN INTO

WOOD SILL (2 PER STRIKE

1/4" TAPCONS WHEN INTO
CONCRETE SILL (2 PER

STRIKE PLATE)

NOTE: FOR COMBINATION OF
UNITS. SEE SHEET 3
& MULLION DRAWING
NO. 1003E UNDER
SEPERATE APPROVAL

ALLOWABLE DESIGN LOADS

SEE "LOAD TABLES" ON SHEET 12

74 3/16" MAX. OSM
1/4" TAPCONS WHEN INTO
CONCRETE HEAD (2 PER STRIKE PLATE)
NO. 10 SMS WHEN INTO
WOOD HEAD (2 PER STRIKE PLATE) VINYC NAIL FIN
(OPTIONAL WITH
SHEAR SCREW
SEE "CORNER DETAILS” INSTALLATION)
ON SHEET 8 ———
T \ r 1/2"
N | —
\ 553 \ Ef:_
] HHH ¢ ° !
48A INSTALLATION 0]y \
SEE OTHER \
NO. 12 SMS  |» ELEVATIONS FOR B}\ \ 3
l(f;TOP E%U%P - SHEAR SCREW | L@ \ i
INSTALLATION
HINGE) , // | // AN ,
o 1 24 7/8" [ \ E
- | , MAX. D.LO. | | H g
a - 45
. /| 7l INACTIVE : n| ACTIVE P ) 2|
: (AN 52
&I~ ' AN 5
< : 31A & 32)h : : 2 2
L - oD =
M T N =+ 3
~ \ xiﬁ / Wi
FIN SCREWS S \§ . e y : o
NO. 8 X 1 1/4" SMS N\ I y;
OR 1 5/8" DRYWALL /_@ N i
SCREWS WITHIN 4" F \ ll/ N E
OF C(/)RNERS & MAX. \ HANDLE ﬂ/ / N
10 1/2" 0.C. H \ | - INSTALLATION
S I I 4 I /8 - s
= IS SN 1 O N I =X
] B N ndi L7 E °
i o < [T, . .
'@o I & >
= NV - E
HINGE Nl N =
i ' | i i
— NO. 10 SMS WHEN INTO
1/4" TAPCONS WITHIN 4" OF WOOD SILL (2 PER STRIKE

CORNERS & MAX. 12" O.C.

644

EXTERIOR ELEVATION

PLATE)

WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.
WHEN INTO WOOD FRAMING

643

DOUBLE TRAPEZOID FRENCH DOOR

1/4" TAPCONS WHEN INTO
CONCRETE SILL (2 PER

SCALE: 3/4=1-0"
STRIKE PLATE)

PRODUCT REVISED

a2 complying with ¢tha 7
Buiding Code srida

FOR JAMB FASTENER EMBED & ED

DISTANCE REQUIREMENTS SEE SHEET 3

GE

’S‘!!Am Trage e et £ watrol

Divising

23 BUCHANAN COURT

KML WINDOWS, INC.
LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

MANUFACTURER

ITLE

ALUMINUM CLAD WOOD FRENCH NON-IMPACT DOORS

8895 N. MILITARY TRAIL; SUITE C-204

& CONSULTING, P.A.

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

CONSULTANTS

DRAWIN

8

1

%

WARREN W. SCHAEFER, P.E.
P.E. NO. 44135

CERTIFICATION

DRAWING NO. |R

12288

P

SHEET NO.

2 or 13

|



—

ORAWN BY: CHECKED 8Y:
K.P.S. LA KN
()51 DATE:
ALLOWABLE DESIGN LOADS T AT
SEE "LOAD TABLES" ON SHEET 12 g
37 5/8" MAX. OSM ———37 5/8" MAX. OSM 55 NOTE: E)?‘RUﬁIOTgB”;éEON 2
. . \ , VINYL NAIL FIN MULLION DRAWING z
N SHEET B i F2 g 4 MR (opTonaL Wi NO. 1003E UNDER
: : SHEAR SCREW -
T~ N\ , / | NSO SEPERATE APPROVAL
.,! A -! - !o '] . I'¢ ° [k 9
ot \ I a £ 3
\ . :
\}~ T, / / v ° \'}
% [@)]
vd / . // - A
P IX N = INSTALLATION JAMB FASTENER MIN. 3
i ' - CLIP /| CLIP 4" FROM 2z
INSTALLATION INSTALLATION CORNERS & MAX. EMBEDMENT G o,
SEE OTHER SEE OTHER 12" 0. NO. 10 SMS INTO BUCK = 1 3/8" Z 09~
NO. 10°SMS \ |2 ELEVATION FOR : . ELEVATION FOR N NO. 12 SMS INTO BUCK = 1 1/2" 0| 428
WTHIN 4 oF \ | [ CLIP INSTALLATION T H SHEAR SCREW H 1/4" TAPCON INTO CONCR./BLOCK = 1 1/4” gl =z0)
CORNERS & INSTALLATION 2|2 zs3
S MAX. 127 0C. o . : : . Z Ty
(@) o - (&) —~
- FIXED > | FIXED | JAMB_FASTENER MIN. g| % 323
g 1 Il g A ml EDGE DISTANCE S| 2.0¢2
B y y < . . = WOOD JAMB & BUCK = 1" ., 'z
: : 8 CONCR./BLOCK = 2" S & e
© ‘ 0 . z |2 =
N . : N , 1 E: £lg 9
Iz
v e » e v 1 e =
'\ . Do h N S — _ 3 3 F
. s . . MAX. D.L.O. / T = n
FIN SCREWS ol 2 ¢
NO. 8 X 1 1/4" SMS ol 8 See
4 in i | OR 1 5/8" DRYWALL Q| W Eh
° : 1 = SCREWS WITHIN 4" ENE-
OF CORNERS & MAX. 2| 2575
Y 10 1/2" 0.C. a| &g z42
[ /// . ° / ° z gg :§§
T H 5 t 2| Y27
42 |58 285
12" MAX. |’ ' 12" MAX. |° | 12" MAX. —; g0° 2.z
} 2< 3=V g8y
- - z . o
; T a & e |5z z
. ] ' ! ' ' u
& e 4 ax. IA | 4 Max «
@ @ 1/4" TAPCONS WITHIN 4" OF & g2
e TPCONS TN 4 O No. Y5SuS WITHIN 4° OF EXTERIOR ELEVATION @ CORNERS & MAX. 12" 0. 2 E
. = o
R £ W I 60 ok o w12 o FIXED PANEL DOOR/SIDELITE WHEN INTO CONCRETE PROBUCT REVISED = i
WHEN INTO CONCRETE WHEN INTO WOOD FRAMING SCALE: 3/4"=1-0 @ NO. 10 SMS WITHIN 4" OF s complying with the Fiorida o] za
. M widing u
CORNERS & MAX. 12" 0.C. . g
EXTERIOR ELEVATION WHEN INTO WOOD FRAMING E:
FIXED PANEL DOOR/SIDELITE S
SCALE: 3/4"=1"-0 i Dude Froduct Control 12288
Division SHEET NO.
S oF 13

_ |



—

1/4" MAX.
SHIM (TYP.) ]

MIN. 2X4 PT
WOOD BUCK
BY OTHERS

FRAME MAX. OSM

/
N VITRTVALTRTARR NN

INSIDE

; 47
/
) D —
, NS R g ,i T
. A b | e I
4 ¢ /
F Q'ZZH/>' /,l < /(L_\\ XIORTY '
e 7 I ARRAN Vi ~
. " \«\ \\,\ I/ EIIEX
s I
- 1
AY

OPTIONAL

16A1168

|SHEAR SCREW INSTALLATION|

39

KEEPER PLATE HELD TO ASTRAGAL
WITH 2 NO. 8 X 1 3/4" SMS

SECTION

QUTSIDE

1/4” MAX.
SHIM (TYP.)

MIN. 2X4 PT
WOOD BUCK
BY OTHERS

SEE "GLASS DETAL"  [OUTSIDE (AN
ON SHEET 9 SCALE: HALF FULL SizE \_ 4
SEE "OPTIONAL JAMB DETALL" ON SHEET 9
FOR DIRECT MOUNT TO BLOCK OR CONCRETE
1/4” MAX.
SHIM (TYP.) | FRAME O.S.M.
1 .@ \
\ INSIDE .
o | 9 T q
ARV NY qu\x\ 1 @ : @ i
b AEEES < /
R S AN C P
) D \ D /N ] I RSRV RS \;< /’ , // /
h OOy \\}\\\ "5\/ 38 07\/\/'\(\‘/\ K“Q: . &,"7 S \\\\% i\ ///1//}//'1’; ////1{
L @ < \’ V| = =) e A
a { l_} ~ .
L 0 \k‘_—ilj_"dj () / U
‘ﬂ SEE "GLASS DETAIL” F

36

SECTION

SILICONE SEALANT

& SCREEN SPLINE

OPTIONAL

(EN

1
SCALE: HALF FULL SIZE W

[SHEAR SCREW INSTALLATION]

ON SHEET 9 16A)168

OUTSIDE

SECTION

36

27

(B2

SCALE: HALF FULL SIZE \ 4/

| __CLIP_INSTALLATION |

N DRAWN BY: |CHECKED BY:
1/4" MAX. K.P.S, WH.S.
SHIM (TYP.) T T
57A
29 ~un e e
97~ W0OD BUCK
al .\ BY OTHERS ||&
: \ 7 - z
X é
SR 3
N : /;xu . g
77T R
. //, /// B o
‘ : . : a
= o . . <
A . N
e o E<
30 N Zz 33%
- O:Z((,C\)
- SEALANT . 3 EU‘%
2 <o
INT: & BACKER ROD zZ 1g¢
BY OTHERS =S5
4 nZ B
| CLIP_INSTALLATION ] € o
[+
g &
; -
3

ITLE

ALUMINUM CLAD WOOD FRENCH NON—IMPACT DOORS

CONSULTANTS

& CONSULTING, P.A.

8895 N. MIUTARY TRAIL; SUITE C-204

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561~775-4902 FAX: 561-775-4903

DRAWIN

i
«
N
=z WM
o) e
< £
S 13g
PRGBUCT REVISED = =
gs compiying with the Florida & =
By : S z*
Acvcoptanes | . %
Expiration Date §
I?fi‘, M ZUL £ DRAWING NO. [REV.
] € uct £ optog
Division 1 2288
SHEET NO.
4 or 13

_ |



N 210£-189 (616) Oy S 0 oy etLotve JNora] g 3OS W Sawwwn 3
ggf 3 6d¥ZSN_YQYNVD ‘OIMVINO ‘NOGNOT VOB AN TN e 2 .
T 1¥N0D NYNVHONG €2 V'd ‘ONIINSNOD % g A e
"ONI ‘'SMOGNIM TN ONIYIINIONT Y¥IJIVHOS M "M Rl &
E YIUNLOVANNYA SINVLINSNOD e AN 1
tooz y FNOr ESFo
3l . SYO0Q 1OVAWI—NON HON3¥4 QGOOM avi10 WNNIWNTY —_— S
g |7 31va A8 NOLLJIMOS30 NOISIA3Y | ON JIUL ONIMYAIQ NOILYOI41143D
Q ,
HCARE
2 ]
8% S
23 g
5% O i
o a
£ r
S5 Ei
[T N
o > a AMM =
& Y= .
S < = N
=i X2 =%
— =z —n Ly e
a o Lo
- NSO "XVN 3AVd4
>
N
.5 — =
=< @ ® " ©® @W ﬂ
=m O
w
[s.0)
| = (&)
M) — =
@ [ O
@ | | | \ | W
S N, u
ﬁ 3 // X
B //_ 1T / \\ E =z
T/.T\ Tt /K S
YTFITATX NNu_v //,/,,, v - ™ ALY U_ =
IS I < 313
I e
e F GC O S = S S - M g
R ) T (=
_ _ Gl
: I O I : N
R IR I = v
<C
m
D @ : s 9P00 ~
M) ™M o L) —
@) <C =) n >
o e} ) (7p]
P \— - M _U
— Y ) !
ZS5T o Ox
w ESS 7o)
Lot
0 =3 & w =
n O
— — wm. mW)
o e < Zo
= IS =z : /M\ e ..H
. < :
gL T = = 5
(] ~T —wn Do
— T —w»n Lei Q=
a o (I ﬁul o
< > NSO "XVA IAVY4 s0b
> M Mnu @ &
& oF
S 2,0
£5 LJ = mﬂu &
=m m O o
m & O
S
=z L
hx9
@ nunamom
ALY @ o
N _
——— A z
o .
T N g
_ L\J - S [72] N._
_v_’ YIFT NN—\MNNWA? - u —HI\IU
i e | 2 |Z
- L
ﬂ U 2 W
N——— e — T m
® | g |2
@) 2 S e
N = M b
& 5 &
o @ ]
2 o oo
— w
ay @ wn
— w.mmm — m i
Z0& =2 L
330 © O
8- T
nPYm Lt
T =
mw O




—

MIN. 2X4 P.T. WOOD
BUCK BY OTHERS (TYP.)

OPTIONAL | 2 \
2 1/4" MAX.
2 { SHIM (TYP.)
SEALANT -
& BACKER ROD
BY OTHERS
16B
OUTSIDE — INSIDE
o =
i S
—F—— %
( \ :
l | b=
lL]..x il &
SEE "GLASS DETAIL"——: VL 'I —19
ON SHEET 9 L ——
1/4" MAX,
[ SHIM (TvP.)

SECTION

t

m SEE "OPTIONAL JAMB DETAIL™ ON

SCALE: HALF FULL SIZE

NG

|SHEAR SCREW INSTALLATION]

SHEET 9 FOR DIRECT MOUNT TO
BLOCK OR CONCRETE.

MIN. 2X4 P.T. WOOD
BUCK BY OTHERS (TYP.)

-
@

SEALANT
& BACKER ROD
BY OTHERS

QUTSIDE

SEE "GLASS DETAILL"
ON SHEET 9

O+

SECTION

/ (38 r s (ve)
o/
> = —
—\—0\e
®
: | INSIDE
@ ull =
Ld 8
—_— T — — 5
( ) 2
—
o 67
/\\; 7
)
—G69
/@ 1/4" MAX.
[ SHIM (TYP.)

SCALE: HALF FULL SIZE

| CLIP INSTALLATION ]

f

PRODUCT REVISERD
Bs Complying with the Florida

Buid
5.0 03-0625 0
wn i!zu;z:_Q&#Zb_l_Qq-

Midmi Dude Product Controt’
Bivision

CHECKED BY:
WWS.

DATE:
05/13/03

REVISION DESCRIPTION

NO.

KML WINDOWS, INC.
23 BUCHANAN COURT
LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

MANUFACTURER

ALUMINUM CLAD WOOD FRENCH NON-IMPACT DOORS

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C-204

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

DRAWING TTTLE
CONSULTANTS

7%

L

CERTIFICATION
JUN 1 8 2003

S
,
/}

//
WARREN W. SCHAEFER, P.E.
P.E. NO. 44135

DRAWING NO. R

12288

2

SHEET NO.

6 o 13

_ |



-

DRAWN BY: CHECKED 8Y:
_ K.P.S. W.W.S.
T MIN. 2X4 P.T. WOOD MIN. 2X4 P.T. WOOD TN
@‘ — BUCK BY OTHERS (TYP.) @ < BUCK BY OTHERS (TYP.)
. 4.. ql g
T b1 T 5
OPTIONAL |-~ 2 1/4" MAX. @__ i ] 1/4" MAX.
: [ SHIM (TYP.) S @ [ sHiM (Tvp.) .
SEALANT 2 SEALANT g
& BACKER ROD R T T T & BACKER ROD z
BY OTHERS ﬂ / E//';’/ BY OTHERS (ﬂ L~ E/ - g
| )'\/ ] 7 //\ 7 - - VAL é
16A (168 2 :\Y ey 7 16A116B % ;\\ SN \_® Z
| 4
! Z
DOW 1199 J @ DOW 1199
SILICONE SEALANT . SILICONE SEALANT
& SCREEN SPLINE | 65 & SCREEN SPLINE 65 o
O~ <
<o 8 & 2
i y X
2 350
A Y . 030
3 : Yl v <N
OUTSIDE ) INSIDE QUTSIDE INSIDE S| 33°.
E a 2 %gi‘g
X - - ; O(/‘\
= = Q ) o)}
z 8 o B
> > =1 x2.
3 E: zlz 3
w ) w SE o
= = =4
o o I & —
- l - (zJ z
] n ” ” Y y >
SEE "GLASS DETAIL SEE "GLASS DETAIL | E ”
ON SHEET 9 ON SHEET 9 - ol & . ¢
@ o] & Sew
@) W, (_',;_:;:':
) @ 2| weodl
=a £ 8
— : ol o™ 3e?
T ; gy @ @ o 5'2 éég
I % @ = \ = .35 *((93
8 Va: | / Sé Iy /_@ 2| 98 ;7
VAN~ VARS- L3S | 8 338
23 -t @— & =1
DOW 1199 B DOW 1199 L HS o o< |59 82|
SILICONE SEALANT as SILICONE SEALANT — R = |27 3%
55 3 e +—9 S
3 v 1/4" MAX. E S ~ 1/4” MAX, ui
S 3 :
1 /AR [ SHIM (TYP.) ag ~ [T SHIM (TYP.) - .
— _ /‘A S \ (_ - : i \ . ' 5 g E 1
‘43 7 4§ . . f @ \::_‘.._ 4f .« 4-_-:4‘ d \: ’7 g o~ \ ] % i
VA @ i S PRODUCT REVISED = "‘\ 2
4 e 5] 4. w e #5 cemplying with the Florida W = zo
l';‘;vsm 25 10 2 E
£ i QD= .} ‘ <
£ nen ‘ =
SECTION /70 SECTION /5 ;347%@ _
SEE "OPTIONAL JAMB DETAIL" ON mi@m« ORAWING NO. | ReV.
SCALE: HALF FUL SIZE N\ 7/ s com oy oo & SCALE: HALF FuLL sz \ 7/ M D Fradar Cooy 12288

_



—

" . DRAWN 8Y: CHECKED BY:
NOTE: THESE SCREWS MAY BE REPLACED 3/8%1/2" WOOD m@ ns | _wws
WITH 1/4" TAPCONS WHEN FRAME IS DIRECT TENON MORTISED s [osss/0s
MOUNTED TO BLOCK OR CONCRETE OPENING INTO STILE & RAIL
(SEE "OPTIONAL JAMB DETAIL" ON SHEET 9) & GLUED WITH PVA u
. WOOD GLUE »WO0D GLUE &
_ (FULL DEPTH OF RAIL) 2 7/8" 308 10 e
e . 7 &
? oy iz RAIL :
Rl 7 z
Q
B 7 £l L1 i
S e Ve g / A 7| 7 .
Z S 7 1 A o
e BT COUNTER SINK = 2
s Qi PN ’j/ﬁ\/ AG BOLT 2 ) JANB CORNERS
el he= ] & CAP WITH 1/4" DEEP
) e UNAY X 1" DIA. WOOD -
5 NO. 8 X 3" SMS— -x S\ DOWEL & PVA , u |
oo o oo [ 5 2 smie CLAD TO CLAD DETAIL i
3 (3(#2) :
STILE & 3 INTO RAL) ) /wf‘/ @ JAMB TO JAMB DETAIL SCALE: N.TS. i
N SCALE: N.T.S. O S«
G N 39 k JAMB CORNER DETAILS 2 350
5 N0, 8 X 3" NS~ AL <l )} PANEL KEEPER BAR STILE TO TOP RAIL CORNER DETAIL el g %%
SCREWS PER PANEL\ (SEE DETAIL THIS SHEET) SCALE: NTS JAMB & CLAD 8 g <Z(O —
KEEPER BAR (2 INTO — N\ ' m al 2 =58
STLE & 3 N0 RAL) | N7AT (69 | lbﬂ\ ‘V\ \ | 832
R -1 @ A 2 1/47+ £l 2 325
=1 o ‘——J : J = E r’)ov
. ; \ ' \ ‘ // ‘ : T N
I S 4 1/2"+ N\ 5 3
TET= 8 STILE (‘” /'/ g -
& [ g < - 2 o
” 4 B L // RAIL //2 /4”+ § 2 -
= SN N - / - =
8/ TN /@ COUNTER SINK P - “lo 8
o/ NN 2 LAG BOLTS 2" \N 1] gl £ 3.7
R , & CAP WITH S| & 5%
5 — L 1" DIA. WOOD 7 = ¥< 0,
IS8 v, DOWEL & PVA - 3/8"x1/2" WOOD al| &% 3e°
3N GLUE A NG5  TENON MORTSED _B-THRESHOLD & BUMPER S| &g s
3 _INTO STILE & BOTTOM N Ol 88
Y, RAL & GLUED WITH N = | B3:3%
A ” PVA WOOD GLUE ™ 2| Yn ]
g 1 NO. 6 X 3/ \Z 43 |, 58 355
.6 X 3/4 - z Z_3
SECTION @ STRIKE PLATES /o™ SMS THROUGH THRESHOLD 3 N0. 8 X 2° SHS SCREMS THROUGH o2 £ w53
CLADDING & INTO JAMB s 2% 8%%
SCALE: HALF FULL SIZE \8/ STILE TO BOTTOM RAIL CORNER DETAIL ¢t screw soss (EXTEND JAMB TO THRESHOLD BASE) £ 5= 2
SCALE: N.T.S.
- THRESHOLD TO JAMB CORNER DETAIL u
3.25" 4.25" > S\ g
2.00" ?7.2/18" CD|AS. H(;LES 250" 0.312" —~ A’ ~—0312" IR\ |b%
0.75" —= 16 C-SINK ~—0.75" 0.562" = 0.078 Sl \\ \I3,
J_ !‘ _\@ é__ { 0.687 : /@ [ J { REVISED EP\F\ Fuj
— & - % -©- ® / : +ith the Florida 8ﬂ gt
B @
o] N—0625" DIA. HOLE FOR FLUSH BOLT STRIKE U 015" DA~ 0812" “'I L— o457 Accepts ,;_-.,;;%%%5’2 =
PANEL KEEPER BAR DETAIL G9STRIKE PLATE DETAIL ol lcrott omer| 12288 |
1/4" X 1" A36 STEEL NICKEL PLATED OR PAINTED BAR NICKEL PLATED STEEL m‘;‘if;:“?“d*f Product Control SHEET NG,
SCALE: HALF FULL SIZE SCALE: HALF FULL SIZE 8 o 13

_ |



—

[-—1/8" (3mm) TEMPERED GLASS

GLASS A 50
2 7 40
17018 /] 617
1/82|;EMIN.__ == E
=] 20409
59 R\

CONTINUOUS WOOD
FILLER (SAME WOOD
AS STILES)

O IR

TYPICAL GLASS & GLAZING DETAIL
SCALE: FULL SIZE

1/4" MAX.
SHIM (TYP.)

IO

1/4" TAPCON 4" FROM
CORNERS AND MAX. 12" O.C.
(SEE SHEET 3 FOR EMBEDMENT
REQUIREMENTS) TO REPLACE
ALL NO. 10 & 12 JAMB &
STRIKE SCREWS

/—CONT P.T. SPACER

AS REQUIRED

ALLALAARRRANAGY

(MIN 3 1/2” WIDE)

Yoy -
\ A \
N AN
yd
MIN. 2X4 P.T.

BUCK BY QTHERS

SECTION /&

OPTIONAL JAMB DETAIL FOR DIRECT

SCALE: HALF FuLL SiZE \ 9 /

MOUNT TO CONCRETE OR BLOCK

SIMILAR FOR CLIP MOUNT

(TYP. ALL UNITS)
SCALE: 1/2 FULL SIZE

e 1" et 2 1/16 ~—15/16"
] F W
| }
$ é % :
| HOLES FOR N

8 SCREWS o

(1 ROW OF 6 1

|

2"

- e

|
a 2" 12"
|

|
' "
1/8" THICK 2

HOLES FOR NO.
6 SCREWS (6 .
TOTAL AS SHOWN) 2

(39 STRIKE_PLATE DETAIL

NICKEL PLATED OR PAINTED A446 GRADE A STEEL
SCALE: HALF FULL SIZE

E"R()I)UCT RE‘
RS cum ISED
Bui clin

gﬁym[, with the Florigg
e w#le

Miami

Divion Dade Product Contrt

DRAWN BY:  |CHECKED BY:
KP.S. WWS.
PLOT: ATE.
1=2 05/13/03

=

<

a

>

@

z

<]

=

a

o

Q

"

w

a

r4

Q

[

P

@

e}

z

o
a
<
~N
0

s
o <
oL N
£3%5
el 43
o =z Z0
o o <L —
Q] 8 2z .
a > <Qo
=1 = 805
~
Q = Df_(O?
<| ooz
oo s OLO
2 73
o
oz a
P 1= brd
< (@]
I Jw —
Q |z
Z Iz
(] =
o
L‘_ ”
O ]
o Z = 7
Ol & &ov
o w o LR
= | WL B
Z T W -
Za = .8
o Q™ 32
3| Bo gk
WO g8
o Z 35
- Fow
=] w338
21 wWo .1
Z | £z 53¢

43 1,58 =8%

=D |5 pC 222

e w8

o< |5 _.F 2"

Z >3 ®a j

= " o Z

Z Z_. 2

= o= a

\ ui
\\\ a
ZIS \\ &
== R
sN . g.
5| o< =g
Sl= ze
e | o
- g
z
DRAWING NO. REV.
SHEET NO.
9 or 13

_ |



—

4.562

- VENEER

4.562

0.645

x\m\\XX%

0.703

R=
5

\__PONDEROSA PINE LAMINATED IN 5 BLOCKS
LINEAL WOOD FRAME JAMB

(PONDEROSA PINE)

4.250

RADIAL WOOD FRAME JAMB
(LAMINATED VENEER)

WOOD DOOR

EXTENDER
(PONDEROSA PINE)

2.187
09 63 / / [ ’/”"‘ “" ” ”/ ”’ / ’/ 05500 / . < , / /l,f ’ ] /r—]/—
// / // : ' / , / ;,‘/ ‘ / : / . /
LINEAL DOOR STOP
WOOD SUBSILL @—(PONDEROSA PINE)
(PONDEROSA PINE)
1.750
1.750 2.468 Nﬁ_
T
N “
0.937 ’
) 1.828

1.629

@ DOOR_THRESHOLD

CAP BUMPER
(PONDEROSA PINE)

4.750

r‘_'— 2.000 ———Li— 0.250
\ \ \ A
\‘ \ \\

k ‘\\ \ \

ASTRAGAL CAP

(PONDEROSA PINE)

(1) RADIAL_DOOR RAIL

0.500

i 1.187
‘ f——1.187 —
T 0.703
0.437 /.
—1.062 —
@ LINEAL @ RADIAL
GLAZING STOP GLAZING STOP
(PONDEROSA PINE) (LAMINATED VENEER)
2.187 2.500
[ ( | L R o
! ; P
| | N
I ‘ | | 1
EEERRRRERERREE
- | 4‘ 1 |
RADIAL DOOR STOP EEREE | |
(LAMINATED VENEER) | | 2312
| D] ||
(T | e 3
« B
4.062 RREEEE
- ,// o |
7
/ 2.1
]
y - L
/ 1| 5750
1.750 — @ ASTRAGAL
T (LAMINATED VENEER)
\ \ \‘ \
\ N k
\ \\ N\ \\
~ //
/// ///
‘\“ \\ \\ \\
Y VoA PRODUCT REVISED
\ \\ \ 25 complying with the Florida
\ \ N \ Buiding Coce
ﬂ Sy i DALLToh
\ Xpirgiign Date Qq_

CHECKED BY:
W.W.S.

DATE:
1=1 05/13/03

REVISION DESCRIPTION

NO.

KML WINDOWS, INC.
23 BUCHANAN COURT

LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

MANUFACTURER

TEE

ALUMINUM CLAD WOOD FRENCH NON-IMPACT DOORS

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C-204

W. W. SCHAEFER ENGINEERING
PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

CONSULTANTS

DRAWIN

uj

a
= 93
<C I
1= Qo
e z
& EW
S ) ze
- o,

[+ 4

<

=

[ DRAWING NO. |REV.

(LAMINATED VENEER) (12)LINEAL TOP DOOR RAIL i
(PONDEROSA PINE) 10 or 13

~



—

4.750 : 1.750 1.750
1.750 ' 0,053
e , | =10
| ‘ FA \\ J \\ / 0.810 q 0.078 0810
~ U L les 2BUE=
5 L |
e \» A~ ] JAMB CLADDING OPTIONAL
/ / o ) o (6063—T5 ALUMINUM) @ JAMB CLADDING
// A - | ~ ) (6063-T5 ALUMINUM)
: - . " ’ ! 0425~ |-
| | _ — 0.360
N WOOD_STILE P
Vo ro_gso* (PONDEROSA PINE) ' 2.834
| \
/ A/ / —0.860 0.062
s / 0.916 [ 1.026
‘:\ i 0.916
L (T7)RADIAL GLASS STOP A (19 DOOR SILL
| \ 6063-T5 ALUMINUM _
7 ( ) LINEAL GLASS STOP (6063-T5 ALUMINUM)
VA e (606315 ALUMINUM) 4.558
/| 9000
/’ / /'/ | |
WA l 1.413 | b ~ o 5.672
- \ N .
VA T T |
\\ N \ 0.078 0.812 ‘ ! ! 0.937
A 332 ({/ 0,050 0.050 — J —{ ~—0.060
/ // / / v // —1
A THRESH
/. / (20 THRESHOLD (7) MULLION CLIP @ (23 RAIL_CLADDING
\ - EXTENDER PLATTED MULLION EXTENDER 0.050
\\\ \ \\ \\ (6063~T5 ALUMINUM) (8083—T5 ALUMINOM) (3003-H14 ALUMINUM) : o= R |
VL DOOR STILE
\ 0.718 — DUOUR olILE
——— CLAD
A “’A_ (6063-T5 ALUMINUM)
/ / / 6" - 9" —_ 1
)/ / 0.125" DIA. HOLES (24) DOOR TOP
N Ve "\ e RAIL CLAD
\ 1.50 & e ¢ LI (3003—H14 ALUMINUM)
R 1.75" b o ¢ 16 GAGE ® @
_ _ o o o sy ’/ / 1187 i 0250
NAILING FIN [ o2 /
DOOR_BOTTOM RAIL @ VN (28 INSTALLATION cuip %% P f

(PONDEROSA PINE)

(CALVANIZED STEEL)
Fy = 33 ksi MIN.

@INT. THRESHOLD TRIM
(PONDEROSA PINE)

ﬂ [-—0.425
— ]

8.922

—{~—0.050

— 1

DOOR_BOTTOM

RAIL CLAD
(3003-H14 ALUMINUM)

PROGUCT REVISED

as complying with the Florida
Buiding Code

Acceptance Ng 0: ‘Obzs-_, (o]

Expirgtion Date <
B)%vé&

Ritami Dade Frovnad Cunded
Bivision

DRAWN BY: CHECKED BY:
K.P.S. W.W.S.
PLOT: DATE:
1=1 05/13/03
W
<
o
>
[04]
z
o
=
a
[74
Q
a
o
z
]
7]
a
[74
o
z
o))
a
<
N
o)
—Z
o
O S<
z 3a%
~oZo
wn s TZRK
14 2 =3
ol 2 202
ol € 2z -w
a §<o@
< Iy
— (@) ~—~
E o 0z
S =2 O
21 X o
2z 3
o ¢ a
Zz 2 z
T [§ 3
oz
Z Iz
(] =
1
-
b- o ]
al 2 z 7
Q| & §ap
O Ll . <+~
= | Y< P
=o £ &
o % A,
5 wo JmE
Q Zz 25
e o
= Wd %2
S| 52 v
o ]
L S g E3R
35 200 ot
il EAL Z. o
TS e 93°
Z 5= © 0y
= 2] o Zz
= 2
a o= a
ui
a
0
Slem w2
Oc we
~ <
<|&= I
O\ N\ | 8o
L z
=loe .
2=\
o \\ é‘l
= <
- z
DRAWING NO. JREV.
SHEET NO.
11 ofF 13

|



FIXED PANEL
(CONFIGURATION = "0")

PANEL FRAME SIZE (OSM) ALLOWABLE PRESSURE (PSF)

WIDTH HEIGHT POS NEG
15 7/8" 82" 136.8 147.3
25 5/8" 82" 90.7 97.7
31 5/8" 82" 76.8 82.7
33 5/8" 82" 72.7 78.3
37 5/8" 82" 65.0 70.0
15 7/8" 85 5/16 136.2 146.7
25 5/8" 85 5/16" 90.1 97.0
31 5/8" 85 5/16" 76.1 82.0
33 5/8" 85 5/16 72.6 78.2
37 5/8" 85 5/16" 65.0 70.0
15 7/8" 95" 134.8 145.2
25 5/8" 95" 88.5 95.3
31 5/8" 95 74.4 80.1
33 5/8" 95" 70.9 76.3
37 5/8" 95" 65.0 70.0

THIS TABLE APPLIES FOR ANY NUMBER OF FIXED PANELS SIDE BY
SIDE & CONSIDERS EACH PANEL BEING EQUAL IN SIZE.

OPERABLE SINGLE DOOR OPERABLE DOUBLE DOORS
(CONFIGURATION = "X") (CONFIGURATION = "XX")
DOOR FRAME SIZE (OSM) ALLOWABLE PRESSURE (PSF) DOOR FRAME SIZE (OSM) ALLOWABLE PRESSURE (PSF)
WIDTH HEIGHT POS NEG WIDTH HEIGHT POS NEC
25 5/8 82" 90.7 97.7 50 3/16° 82" 913 983
31 5/8" 82" 76.8 82.7 62 3/16" 82" 770 829
33 5/8 82" 727 783 66 3/16" 82" 729 785
37 5/8 82" 65.0 700 74 3/16" 82" 650 700
25 5/8" 85 5/16° 90.1 97.0 50 3/16 85 5/16° 907 97.6
31 578 85 5/16" 76.1 82.0 62 3/16° 85 5/16° 763 82.2
33 5/8" 85 5/16" 72.6 782 66 3/16" 85 5/16° 727 783
37 578 85 5/16° 65.0 70.0 74 3/16" 85 5/16° 650 700
25 5/8" 95" 88.5 95.3 50 3/16" 95" 89.1 959
31 5/8" 95" 744 80.1 62 3/16" 95 746 80.4
33 5/8" 95 709 76.3 66 3/16" 95 710 765
37 5/8 95 65.0 70.0 74 3/16° 95" 65.0 70.0
FOR THE "XXXX" CONFIGURATION, THIS TABLE CONSIDERS
EACH DOOR FRAME TO BE EQUAL IN SIZE.

NOTE: ALL POSITIVE PRESSURES FOR ALL DOORS SHALL

BE LIMITED TO 65 PSF WHEN WATER INFILTRATION

RESISTANCE IS REQUIRED BY CODE.
(POSITIVE PRESSURES LISTED IN TABLES ARE FOR WIND PRESSURE ONLY)

NOTES:

1. THE LOADS IN THESE TABLES ARE AS DETERMINED BY TESTING & COMPARATIVE
ANALYSIS WITH THE CONTROLLING FACTOR BEING THE WORSE CASE OF: GLASS
SIZE & AREA, UNIT AREA, HINGE REACTIONS, STRIKE PLATE REACTIONS,

AND PERIMETER FASTENER REACTIONS.

2. THE LOADS iIN THESE TABLES MAY NOT BE INTERPOLATED.

NOTE: TABULATED VALUES ARE FOR THE ALLOWABLE DESIGN PRESSURE RATINGS OF THE UNIT SIZES & CONFIGURATIONS SHOWN.

x;wr s Eata
Mzgm lade P‘mduu C nmmi

Division

DRAWN BY:  JCHECKED BY:
K.P.S. WW.S.
PLOT: DATE:
1= 05/13/03

=

<

o

>

@

4

=]

=

a

o

Q

w0

w

o

r4

o

(4]

b

[/4

KML WINDOWS, INC.
23 BUCHANAN COURT

LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

MANUFACTURER

ITLE

ALUMINUM CLAD WOOD FRENCH NON-—-IMPACT DOORS

& CONSULTING, P.A.

W. W. SCHAEFER ENGINEERING
8895 N. MILITARY TRAIL; SUITE C-204

PALM BEACH GARDENS, FL 33410
PHONE: 561-~775—-4902 FAX: 561-775-4903

CONSULTANTS

DRAWIN

AEFER, P.E.

R 200;

CERTIFICATION
P.E. NO. 44135

WARREN W.

DRAWING NO. |R

12288

2

SHEET NO.

12 oF 13

"~



~

DRAWN BY: CHECKED 8Y:
K.P.S. W.W.S.
PLOT: DATE:
PAR REF MATERIAL LIST PART | REF MATERIAL LlST FASTENER MINIMUM 1=1 05/13/03
NO. NO.. DESCRIPTION NOTES NO. NO.' DESCRIPTION NOTES EMBEDMENTS .
" - =
PARTS & EXTRUSIONS 40 - #6 X 1 5/8" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 6" 0.C. 1) ALL TAPCONS b3
1 [PF1010 | INEAL JAMB WOOD MEMBER SEE NOTE 1 41 — | #6 X 3/4" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 12" OC. MUST HAVE A MIN. |
2 | PF1231 [ CURVED JAMB WOOD MEMBER LAMINATED VENEER 42 | - | #8 X 2" SMS SCREW 3 © EA. RECTANGULAR JAMB CORNER CONCRETE/BLOCK -
3 |PF1358 | WOOD SUBSILL FOR THRESHOLD | SEE NOTE 1 43 - | #8 X 1 1/2" SMS SCREW 3 © EA RADIUS JAMB CORNER EMBED = 1 1/4" |z
4 | PF1351 | LINEAL WOOD DOOR STOP SEE NOTE 1 44 - #6 X 3/4" SMS SCREW 2 @ EA. JAMB CLAD CORNER INTO CLAD SPLINES . 2
S | PF1351 | RADIAL WOOD DOOR STOP LAMINATED VENEER 45 - 3/8" X 5" LAG BOLT ! @ TOP STILE & RAIL, 2 BOTTOM STILE & RAIL 2) ALL JAMB TO T o
()
6 |PFI011 | WOOD LINEAL GLAZING STOP SEE NOTE 1 46 ~ | #12 X 3/4" SMS SCREW + 0 EA HINGE NTO B (excLuo Top rnge)  BUCK SCREWS MCUS 2
7 | PF1011 | WOOD RADIAL GLAZING STOP LAMINATED VENEER 47 - #12 X 1 1/4" SS. SCREW 4 @ EA. HINGE INTO STILE HAVE A MIN. BU ,,K 2
8 |PF1169 | WOOD BOTTOM RAIL EXTENDER SEE NOTE 1 48A - {#12x2 1/2" S.S. OR BRASS SMS 2 @ TOP HINGE ONLY THRU JAMB INTO BUCK E¥BI5D _1013(3342WS :
9 PF1362 | DOOR THRESHOLD CAP/BUMPER SEE NOTE 1 48C - 1/4"-20 X 3/4" MACHINE SCREW 2 ® TOP HINGE ONLY (WITH T—NUT) A O - S
. ” " “ 4
10 | PF1507 | ASTRAGAL CAP SEE NOTE 1 49 - #10 SMS SCREWS (1 3/8" MIN. BUCK EMBED) WITHIN 4" FROM CORNERS & MAX. 12" O.C. <13c 1 TR/ZWSAT NO.
11 PF1130 | RADIAL DOOR TOP RAIL LAMINATED VENEER 50 - #8 X 1 3/4" SMS SCREW 2" FROM ASTRAGAL ENDS & MAX. 12" O.C. 2 SC E .
" (o)}
12 | PF1131 | LINEAL DOOR ToP RAL SEE NOTE 1 51A - #10 SMS SCREWS (MIN. 1 3/8" BUCK EMBED) 2 THRU EA. STRIKE PLATE, JAMB & INTO BUCK LENGTHEN SCREWS &
13 | PF1489 | WoOD ASTRAGAL LAMINATED VENEER 518 - g k{& :AF;C/(ZQJ' ((:vs:%hé nséLoBEch;NCR.) 2 THRU EA. STRIKE PLATE, JAMB & INTO CONCR. AS REQ'D TO OBTAN N
. - )
14 |PF1132 | wOOD BOTTOM RAIL SEE NOTE 1 ) . EZ
52A - #6 X 3/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB REQ'D MIN EMBEDS O Yo
15 |PF1130 | wooD STILE SEE NOTE 1 - > 28~
528 - #8 X 1 1/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB =925
16A/8| PF1001,/1002 ] JAMB CLADS 6063-T5 ALUMINUM ol 4 Ug Q
A _ " . PLAT T NCRETE
17 TPr1017 |RADIAL GLASS STOP 205375 ALOMINUM 53 (%: :AF:C/(ir:l, ((:\g:ir; IIELOBECDC))NCR.) 2 THRU EA. SILL STRIKE PLATE & INTO CONC EASTENER MINIMUM i g z3 1
. . (@) Z -0
18 | PF1458 | ALUMINUM LINEAL GLASS STOP 6063~T5 ALUMINUM al @ oo
538 - |#10 SMS SCREW (MIN. 1 3/8" FRAMING EMBED) 2 THRU EA. SILL STRIKE PLATE & INTO FRAMING FDGE DISTANCE: Z 1%
19 |PF1086 | 4 9/16" OUTSWING DOOR SILL 6063—-T5 ALUMINUM - - - , =l = 0%~
54A - 1/4” TAPCON (WHEN INTO CONCR.) WITHIN 4" OF CORNERS & MAX. 12" O.C. wooD = 17 Q SO
20 |PF1083 |THRESHOLD EXTENDER 6063-T5 ALUMINUM (MIN. 1 1/4” CONCR. EMBED) v il 2] 2 PED
22 |PF1295 | INTERIOR THRESHOLD TRIM SEE NOTE 1 ' ' - CONCR./BLOCK = 2 =| 2 O
548 - #10 S/STL SCREWS (MIN. 1 3/8" FRAMING EMBED) WITHIN 4" OF CORNERS & MAX. 12" O.C. | N
23 |PF1172 | BOTTOM RAIL EXTENDER CLADDING |3003-H14 ALUMINUM - " Z | o
55 #10 X 1.5” SMS SCREW (SIDE JAMB TO MULL PLATE) | 4” FROM CORNERS & MAX. 12" O.C. o [& A
24 |PF1135 | TOP RAIL CLAD 3003-H14 ALUMINUM " - Z 15 Z
56 - #10 X 2 1/2" SMS SCREW 4" FROM CORNERS & MAX 12" O.C. Q O
25 |PF1134 | STILE CLAD 6063-T5 ALUMINUM . - I |y -
57 - #8 X 1 3/4” SMS 3" FROM CORNERS & MAX 12" O.C. Q Iz
26 |PF1136 | BOTTOM RAIL CLAD 3003-H14 ALUMINUM - . ol
S7A - #8 X 1" SMS SCREW 3” FROM CORNERS & MAX. 8" O.C. &
27 |PF1214 [ VINYL NAIL FIN OPTIONAL WITH SHEAR SCREW INSTALLATION — w a
PF1326 578 - #8 X 2 1/2" SMS SCREW 3" FROM CORNERS & MAX 12" 0.C. a e ., 2
1 ]
o] ¢ ®own
28 | SK1031 |GALVANIZED 16 GA. STEEL GALVANIZED STEEL, INC. (Fy = 33 ksi MIN.) SEALANTS S| & . i3k
INSTALLATION CLIP WITHIN 4" OF CORNERS & 12" MAX. O.C. 58 - DOW 995 SILICONE FOR 1/2" GLAZING BITE = | Y< B,
=0 £ »
30 |SK1156 |FIVE KNUCKLE FULL MORTISE HINGE| STANLEY NO. FBB191; STAINLESS STEEL 59 - DOW 1199 STRUCTURAL SILICONE ADHESIVE CONT. CLADDING TO JAMB & DOOR STOP TO JAMB 2| 8 .32,
(4 PER DOOR PANEL) OTHER (5) Gg g4
- - e &3
31A G-U US TRIM SERIES 2000 HANDLE|USE WITH PART #32 LOCKING HARDWARE (BRASS) 50 — NORTON NORGLAZE 0625" X 437" GLAZING TAPE POLYOLEFIN FOAM W,/ ACRYLIC ADHESIVE = b5 ggg
18
31B |SK1415 |W&F MFG. SERIES 1200 LOCKSET |INCLUDES HANDLE & SINGLE DEAD BOLT (BRASS) o1 ~ TREMCO 440 BUNL TAPE GASKET TRIM OFF AT EDGES (TYP. AT JAMB CLAD CORNERS 2| 42 zd
32 - |6-U 3—POINT DOOR LOCKSET US TRIPACT DOOR BOLT SYS. (USE WITH #31A) . L=E |59 8%
64 - 1/8" THICK TEMPERED GLASS =5 1280 281
33 | SK1193 |KML INTERIOR FLUSH BOLT 1 TOP & BOTTOM EACH DOOR PANEL INTERIOR 2 Z g 038
; p " H 229 2%,
34 |SK1597 |0.945"X2.25"X0.078" STL STRIKE |1 AT EACH FLUSH BOLT STRIKE (HEAD & SILL) 65 | PF1371 | FRAME WEATHERSEAL SCHLEGEL N L
PLATE (Fy = 33 ksi MIN.) NICKEL PLATED STEEL 66 |PF1026 | 0.415" X 0.489" RAINSKIRT SCHLEGEL EXTRUDED FLEXIBLE COPOLYMER c |5z z
35 |SK1598 [4"X12” X1/8" STEEL STRIKE PLATE |LOCATED AT CENTER/TOP OF HEAD JAMB
(MIN. ASTM A446 GRADE A STEEL) |NICKEL PLATED OR PAINTED STEEL ALL WOOD USED WITH TESTED UNITS IS MINIMUM GRADE 2
FASTENERS PONDEROSA PINE. ALTERNATE WOOD SPECIES ACCEPTABLE z| or
- - " . o
” Polst ormns soatn 1w e O EOS & w10 1727 00 WITH THIS PRODUCT ARE THE FOLLOWING MINIMUM GRADE 2 o
1
. WO0DS: 1. MAHOGANY 5. DOUGLAS FIR 2l o
37 - |48 x 1 1/4" SMS SCREW 2 PER CLIP INTO BUCK (1 EA. SIDE OF BUCK) 2 OAK 6 MAPLE PRODUCT REVISED =/
38 - #8 X 5/8" PAN HEAD SMS SCREW| 3 PER CLIP INTO JAMB 3. CHERRY 7 TEAK gsufgr::rg:av%mg with the Florida o = z
. . il % L3 m
39 - 3/8" LONG STAPLE WITHIN 3" FROM CORNERS & MAX. 8" O.C. 4 CYPRUS = 2
‘ B
DRAWING NO. |REV.
12288
SHEET NO.
13 of 13

_ |



